Efficiency vs dr

x 0.
<
©0.09
2'0.08E
c
Q
50.07
=
%0.06
0.05
0.04
0.03
0.02
0.01

q

0.8

-[—=— DOM _CKF_TTbarPU '
—e— DQM_mkFit_TTbarPU-noDNN-baseline

Ratio

-| —— DQM_mkFit_TTbarPU-noDNN-fix

0.6

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02

00.018F
= E
3.016F-

D.014F
> o
9D.012F
q_) -
o -
£ 0.01:
5} o
0.008|

0.006F

0.004F
0.002F
of

o
©
T

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05—— : :
% st o
@0455_ """"""" ' """" ,. ----------------------------
30.04F | ireeene o R T
() y . N
®.035F -1 peeeenes P RECLCTEPLPIPPPPET
= E : :
© Q.03+ [-ieeerirenencenn b
0,025 -+ [+irveseeioesseesbons b s
S e T B TR S
0.015( ] ------ :-ﬂ---}.- ...................
Ll
0.005F k ------- 10 8 IR S
PR US4 N SOV ¥ 1 DO SO
ac_cu 1:—- - - oel]-- -
X g9 A-HH -

08: -- - ‘

036740 60 80 100 120 140

Pileup



	Contents
	Page 1


